SR 20234E 8 5T F A 55 DA LR N RS

(S ZEe R Gl B ) JOPRMPERARENIDES k70

ptl Y02 S Rz &R BE| coan, |ms| we |na|ses
21060 BN AZ 1 Rl E M E L AEFBEA—REE KT 1 78. 61 78.8 | 157.41( 1 it
21060 | EMTALR 1 FlE & L AESHAR —REE RUT 1 73. 87 78.16 |152.03( 2 | E#H
21060 | EMTALE 2 TEEE TN —FELRUT 1 67.97 77.9 |145.87] 1 2
21060 EMNT AL 2 RAERE TN —FEKFKUUT 1 66. 685 77.9 [144.59| 2 | #4FH
21060 ENT AR 2 AR TN —FEK T 1 63.235 78.7 |141.94] 3 | EWF
21060 | EMTAZR 3 _ﬂz&%g%5i2%5%§%f1535252§%§Eﬁ) 1 70. 28 79.96 [150.24| 1 | ZBEA&
21060 | EMTAZRE 3 /&%%iﬁﬁﬁﬂéégégﬁ) 1 68. 94 77.4 [146.34| 2 1 25
21060 | EMTAZR 3 ~ﬁ%%iﬁ?ﬁﬂéggégﬁj 1 66. 01 77.2 |143.21 3 | AW E
21060 BENTALR 4 I R Ag P — REK R 1 68. 325 78.7 |147.03] 1 i
21060 BN AL R 4 LI R 18R P — REK R 1 66. 11 78.1 |144.21| 2 K E
21060 [ EMHTAZR 5 gﬁﬁf;gﬁgﬁﬁ?*“ 1 71.9 76.1 | 148 1 AR
21060 | EMWAZR 5 gﬁﬁf;gﬁ%@ﬁéﬁM 1 66. 45 77.5 [143.95( 2 | Ak
21060 BN AR 5 gﬁﬁfﬁgﬁg@ﬁ?ﬁM 1 65.4 78.1 | 143.5| 3 M F
21060 | wEMWALR 6 M REHFRES —REKKUT 1 67. 575 78.6 [146.18| 1 | MRS
21060 BN AL R 6 LW RS RIEE —REKKUT 1 66. 215 77.9 |144.12] 2 W [E]
21060 | BEMWAZE 6 W R g HREE —FEK KT 1 66. 025 76.3 [142.33( 3 | #EME
21060 | EMTARE 7 LW R E KA —REK KT 1 70. 545 82.6 [153.15] 1 | x#=x
21060 | EMTAZR 7 TR EMERN—ZELEUAT 1 67.5 77.3 [ 144.8 [ 2 | BRER
21060 EMN T AR 7 LR M EME RN —REKKUT 1 66. 015 77.54 [143.56] 3 EEX4
2060 | mMwazE | 10 jﬁﬁﬁfﬁgﬁf—?f@fﬁ*ﬁ | 6.3 | 765 | 1388 | 1 | Amm
21060 | BEMWALR 11 w0 R E i KA — B &K KRR 1 72.91 77.94 1150.85] 1 | ZA%E
21060 | EMNTAZR 11 Fo oo R A RPN — B &K BT 1 70. 35 76.22 | 146.57| 2 | &z
21060 | BEMWAZR 11 i o R R E KA —REK KT 1 68. 46 72.82 [141.28] 3 | K&
21060 | EMTALE 13 il o R FAE G — REK KT 1 71. 495 78.9 [ 150.4 | 1 | MAER
21060 EMN T AL 13 TR R FEER I —FEKRUT 1 70. 785 79.2 [149.99| 2 | MEm®
21060 EMN AR 13 KR R AREF O —REK KT 1 65. 51 82.46 [147.97] 3 | HZK
21060 BN AL R 14 vy A R AE B S — REK ROLTR 1 71. 87 76.42 [148.29] 1 AR
21060 | EMTARR 14 i R B R AE R A — REK KL 1 70. 8 76.24 [147.04] 2 | HRBEE




2l emen | R R &R BE| coan, |ms| ge na|sms
21060 | EMTALE 14 I 1o B A A R s — R K R LT 1 65. 81 77.74 |143.55] 3 | sz
21060 | EMTALE 15 /2&%}&@;’7\%%(@@?;%\%@) 1 72. 46 80.96 [153.42] 1 | M—A,
21060 BN AR 15 Jé&%ggﬁfﬁgﬂég‘;g%@) 1 70.95 76.6 | 147.55( 2 g
21060 | EM AL 15 /2&%&%;’]\5(@@@2%@) 1 71. 04 74.92 |145.96| 3 | FRERE
21060 EMNT AL 16 i R RS KN — REK KT 1 64. 48 81.3 [145.78] 1 H 07 4%
21060 N AR 16 Jo ¥ R R B KN — REK KT 1 62.475 | 78.94 [141.42| 2 | 8%
21060 BN T AL 16 g o R RS KN — REK KT 1 63. 325 76.92 | 140.25| 3 | f7#
21060 N AR 17 Fo g B 1B 8 T KN — K BT 1 65. 21 79.54 | 144.75| 1 | #ASHF
21060 BN AR 17 Fo g o BB RN — REK R 1 64. 095 80.24 | 144.34] 2 | #Eues
21060 N AR 17 g B ik R BN — K BT 1 62.98 80.3 [143.28] 3 | A
21060 | EMTALR 18 %%é‘fﬁfﬂjffﬁf}%g) 1 60. 9 75.02 [135.92 1 | #s
21060 | EM T ALR 19 K& R#HEEFC—REKRUT 1 59.78 [ 76.72 4 136.5 | 1| EAZD
21060 EMNTALRE 19 KEFDR#HERO —REK KT 1 59.565 75.8 |135.37| 2 | &Y
21060 | EMNTAZR 21 %z;'i%;iggfﬁézgé) 1 68.7 80.58 [149.28| 1 | #hkuue
2060 | wMwazE | 21 w TR RS | 68.5 | 80.26 |148.76| 2 | Mmkiz
21060 | EMTAZR 21 %%1’%@2%{?%% 1 66. 1 80.84 |146.94| 3 | %™
21060 | EMTAZE 22 jﬁ”‘]‘lﬁigﬁiﬁf%u | 72. 62 78.84 [151.46| 1 | mE®
21060 | EMTALER | 22 ﬁmﬁiéiiﬁﬁ*” 1 70.59 | 79.8 |150.39| 2 | FE#s
21060 | EMTALE 22 jﬁﬂ“ﬁigﬁiﬁf** | 70. 87 78.22 [149.09| 3 | #yx
21060 | EMFAZR 23 égﬁ;‘;j&%ﬁ% 1 67.89 | 79.42 [147.31] 1 | sk
21060 BN AL R 23 ﬁ@ﬁ;@ﬁé};};ﬁjﬁm 1 67.2 79.56 [146.76] 2 Rz SN
21060 | EMWAZE 23 ﬁgﬁ;fjgﬁi*“ 1 65.2 80.48 |145.68]| 3 | #4rg
21060 | EMNTAZR 24 ﬁﬁﬁ;ﬁiﬁgiﬁ*" 1 61.3 75.22 | 136.52 1 | HrAFi
21060 N A 25 TERERNKAN—FELKKUT 1 71. 44 78.88 [150.32] 1 FEEM
21060 BENTALR 25 & E R EEH KA —REK KU 1 62.775 79.1 |141.88]| 2 | ¥
21060 EMNH AR 25 &R EE KN — B EK KT 1 61. 66 76.88 [ 138.54] 3 | HEZ
2060 | mmMaazE | 26 Jﬁ%ﬁfgfﬁﬁﬁ“ | 69.7 | 78.76 |148.46| 1 | BB
21060 M AR 26 ﬁgﬁigjﬁfﬁw‘ 1 69.12 76 |145.12] 2 FE
21060 =N TN 26 ﬁgﬁ;;j}gﬁfﬁm 1 67.16 77.78 [144.94] 3 Ik 3 TR
21060 BEM T AE R 27 w2 R L A 1 72.27 75.58 |147.85| 1 | #FIE

—REKRUT (HEZsER)




2l emen | R R &R BE| coan, |ms| ge na|sms
21060 BN AL R 27 ~é&%&iﬁfﬁﬂi§%&%ﬁ) 1 67. 24 78.92 [146.16| 2 | EweiE
21060 N AL 27 /%%&éﬁéﬁfﬁ(@@?ﬁ}%%@) 1 67. 84 78.1 [145.94( 3 | #fhg
21060 BN AR 29 ﬁgﬁ;%;iiﬁj%ﬁm 1 71.775 79.72 | 151.5 | 1 W
21060 | EMTAZR 29 ﬁgj’i;;fgﬁj%k% 1 69. 24 81.38 [150.62] 2 | 4Bt
21060 M AR 29 é@ﬁ;ﬁ;i%}ﬁj%ﬁl% 1 70. 235 75.6 |145.84| 3 T4
21060 | EMNTAZR 30 EMNTETFH—RELEUT 1 73.735 | 80.36 | 154.1 | 1 | ZiEE
21060 | EMTALR 30 ENTEFHT—RELRUT 1 70. 39 81.4 |151.79] 2 KA
21060 BN AR 30 EMNTETFI —RELE T 1 69.275 78.28 | 147.56| 3 | #Fk
25060 HIHE AN 1 A 0 — REK LT 1 70. 985 81.44 [152.43] 1 | R#
25060 | EHEAZA 1 PO —FELEUT 1 70. 695 80.2 [ 150.9 | 2 | %m=E
25060 BEHENTR 1 WEPO—REK KT 1 68. 825 79.24 [148.07| 3 | HEsE
25060 EiHEL AN 2 /é&%g}ijﬁ/ﬁﬁé@g%@) 1 71. 47 76.46 | 147.93| 1 T YL
25000 | EHELAKE | 2 s e 1| evaas [ 76as [1asso| o |
25060 |  EHEAZR 2 /%%J&Mﬁﬁfﬁ/ﬁﬁé@%ﬁg%@) 1 65.745 | 77.46 [143.21] 3 | HHA
25060 | EHEAZE | 3 N = S 1| eses | soo0a |uases| 1| vk
25060 [ EHEALZE 3 /%%&Mﬁiié({%ﬁxﬁggg%fi) 1 67.195 [ 78.72 | 145.92] 2 Wit
25060 [ EHEAZE 3 #ﬁ%ﬁﬂf@f{fﬁiﬁﬁg%fi) 1 68 77.4 | 145.4 | 3 | XA
25060 BiHEANETR 4 ~£¥i§j§ﬁ’%}ﬁ?@) 1 61.9 77.56 [139. 46| 1 A 3
25060 |  EHEAZR 4 Jﬁ%ﬁ%ﬁ%ﬁg 1 57.6 78.42 |136.02| 2 | AkiEwr
25060 | EEEAZR 5 KA —REK K UT 1 69.585 | 75.36 | 144.95| 1 | HiEa
25060 AR 5 KRR BT — REK R LT 1 58.965 77.78 [136.75] 2 | MRZEA
25060 | EEEALR 5 KA — REK KU 1 55. 86 76.76 | 132. 62| 3 | ERAERE
26060 | =FEAZR 1 ffﬂé’if&j‘j@%fjfg 1 62. 4 75.36 [137.76] 1 | MawE
26060 | =HFEALR 1 fgf;if;j&%ﬁfg 1 64. 5 71.06 |135.56| 2 | #&E
26060 | mHELNEZR 1 jféifﬁ/ﬁf@%ffg 1 54.5 71.9 | 126.4 | 3 | #kitim
26060 | =FENER 3 /é&%f;%ff%%;‘;g%@) 1 69. 895 80 | 149.9 | 1 | ZBEMW
26060 =HHNER 3 ~é&%§%m/§‘i§fTé({%M%§j¥é%fi) 1 70. 7 78.5 | 149.2 | 2 st 2
26060 [ =HFELALSE 3 ~&%§&M§%ﬁ$ﬁﬂ%§§%%@) 1 67.945 | 77.24 | 145.19| 3 | A#KA
27060 | BRENLZE 1 BB KN —REK R LT 1 64. 43 79.34 | 143,77 1 | e
27060 W2 BN 1 g B AN —REK KT 1 64.05 79.16 |143.21| 2 Y4




2l emen | R R &R BE| coan, |ms| ge na|sms
27060 BB 1 EE5BERN—REKRUT 1 63.755 78.12 | 141.88] 3 | ZR ¥
27060 | BERENZR 2 jfgifﬁﬁj@%ffg 1 65. 9 79.06 [144.96| 1 | ZfE#t
27060 | BHREAZR 2 ﬂfﬁf&j‘j}i%?jfg‘) 1 61.1 75.92 | 13702 2 | #EfH
27060 | BERELNER 2 jfﬁf&j‘j}%ffg 1 54.1 74.92 [129.02| 3 | A%
27060 | BHREANZR 3 TR B — R BT 1 69.955 | 78.78 |148.74| 1 | x%iz
27060 B ENEZRF 3 TAR IR W BT — REK BT 1 63.075 78.62  141.7 | 2 W
27060 BRENZR 3 TR T — RERK BT 1 63.17 76.34 [139.51] 3 | 4h&#E
28060 RN 1 AT —FEK AT 1 67. 24 80.84 [148.08] 1 o
28060 | AHLEAZR 1 HNE —FELFT 1 64. 74 79.9 [144.64| 2 | HrEEE
28060 b Bk 1 INE —FELFUT 1 64. 38 77.5 [141.88] 3 | MiEH
28060 IR YN 2 W?(j%é;;@i{éguT 1 70. 36 78.44 | 148.8 | 1 | MfFEAK
28060 | AWLEAZE 2 M%fﬁg@g;@%i;ﬁ%T 1 65. 98 78.06 |144.04| 2 | #T &
28060 | ARULEAZRE 2 WJ%?&QQ@{;&“T 1 66. 2 76.6 | 142.8 | 3 | A4
28060 | FRULEAZR 3 B RN —REK KT 2 65. 05 79.4 144,450 1 | #EHE
28060 BN R 3 EHAKN—REKKUT 2 64. 4 79.32 | 143.72| 2 | maEm
28060 | AKWLEAER 3 EHAR—RELKEUT 2 63. 34 77.32 | 140.66| 3 | Euris
28060 Fh Bk 3 EH K —REKKUT 2 58.7 79.04 |137.74 4 | ¥2%
28060 FiBEAZR 3 EH KA — B K KT 2 59. 02 76.86 [135.88| 5 | Hr®m
28060 IR NS 3] 3 FEH AR —REK KT 2 59.1 73.48 [132.58] 6 | Ak
29060 CER- A 1 g;ﬁigﬁiéﬁﬁj%) 1 69.3 77.72 | 147.02| 1 | BRI
30060 | PREAZE 1 jf;if;jﬁigffg 2 58.2 74.6 [ 132.8 | 1 %
30060 | FAREARE 1 jﬂf;if&jijj}%ﬁ;zi 2 51.6 74.72 [126.32] 2 | MIFER
30060 | FREAER 2 TP G —FEKRUT 2 71.8 78.86 [150.66| 1 | =
30060 | SPAuEANT R 2 TEF O —RELKUT 2 67.29 77.42 [144.71] 2 | EfEA
30060 S RN o 2 A 0 — REK LT 2 65. 58 79.08 | 144.66] 3 | L EW
30060 FAn BN 2 HEF O —REK KT 2 65. 34 79.2 |144.54| 4 F IR F
30060 | FAEAZE 2 FEFC—RELKUT 2 67. 39 75.28 | 142,67 5 | #h K
30060 | FARALE 3 I — L T 1 65.315 | 82.06 |147.38| 1 | iL¥4
30060 | FREARE 3 AT — FEL TR 1 65.305 | 78.94 | 144.25| 2 | #KET
30060 R NS 3 INE —REK R LT 1 65.535 77.9 |[143.44] 3 MRITH#




2l emen | R B A T BE| coan, |ms| ge na|sms
30060 | TAEARE 4 BIE —REKRUT 1 71.915 | 78.26 | 150. 18| 1 T

30060 | FREARE 4 BIE—REKRUT 1 66. 4 78.92 [145.32 2 | 29k
30060 | FREAZE 4 BT E—FEK KT 1 66. 01 76.22 | 142.23] 3 | EA
32060 A gr BN R 1 g R T —REL DT 1 69. 025 79.18 [ 148.21| 1 R
32060 | HeZEARE 1 LR EE —REK KT 1 64.235 | 80.46 | 144.7| 2 | #WT
32060 e BLNZ 1 BEREE —FELTUT 1 64 79.82 |143.82] 3 1

RERWERAZRAERIIEE

30026 | PREARBER | 3 GRE= %S 1 67.7 77.8 | 145.5 | 1 | #hF
30026 | FAREARBER | 3 8 A 1 67. 3 77.72 | 145,02 2 N

30026 | PR ARBER | 3 IR 28 1 66. 8 78.22 | 145. 02 3 | EER




